PROOF THE ANCIENT ORDER
KILLED PRINCESS DIANA

@ The ANCIENT ORDER chose Frincess Diana, operated her and then killed
her. Look at her name before she married Prince Charles.,
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@ EBefore Diana married Prince Charles, she didn't have elther "laser" or
"ray" in her name. After marrying him, she had both "laser"™ and "ray" in
"Lady Diana Spencer", read left to right and back IN A CIRCLE,

@Princess Diana was operated by these Laser Ray devices by the ANCIENT
ORDER's doctors. Part of the reason she was chosen was her name. "Dliana
Spencer" begins with "D" and ends with "r", "Dr" from start to finish.
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Osgillations"
of Princess
Diana's brain with these Laser Ray devices. The electrical oscillations are
measured in "8 to 13" and 13 to 30 hertz." B - 13, 13 - 30. The first is
8 and the last is 30, B 30. Princess Diana's car crashed on 8-30-97,
B There iz something else about 8/30. Zugust 30th is the 242nd day of
the year. 3165 - 242 = 123, B-30-97 was exactly
123 days before the end of 1997. That would be :
the "1,2,3" day before the end of the year. IT WAS A BRIGHT COLD DAY TN APRIL,
@ Notice this passage from "1284", "IT WAS A 5
BRIGHT COLD DAY...", "IT WAS A..B..C..D.." or
"IT MAB 1..0..3.:.".
&The very next day, August 31, was the day Princess Diana died. That was
the 243rd day of the year. The ANCIENT ORDER have two name-totals
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@ The two name-totals for the Beast of Burden are 111 and 132. added
together they total 243, the day of Princess Diana's death.

& How many days did Princess Diana die from the ANCIENT ORDER's Beast of
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augqust 31 wag the 24388 dav. 122 left In 1907 o cusas s ssssssscnsncess 122

1988 through 2004: 7 yvears or 2,555 GayS.cceccccnssnansnnnnnssssasaslydsh
2 leap years go add 2 more dayS...sesssssnascseas 2

33 davs until February 2nd i0 2005 . e esssssssss

A i )
® Total=2;712
®2,712 = 2 x 2 x 2 x 3 x 113, This is the only eguation
you can get from 2,712, The two highest totals are 113 and 2x2x2x] or 24.
An ANMCIENT ORDER code:the 113th day is April 23rd or 4/23. The 24th day is
January 24th or 1/24, The code is to multiply those dates.

@124 x 423 = 52,452 or 52452
That reads "52 for 52". The paszsage below is alsc from, "1984",

TWD AND TWO MAKE FIVE.
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